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TELECOMMUNICATION & SWITCHING NETWORKS

fruita o . fA =R - [frman 3 : 70
Time allowed : Three Hours] [Maximum Marks : 70

A () FUR I G 8, 99 7 @ fl uia F I d
Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(ii) Y F9T % qY} 9T %) FHER UF G 5 Fford |
Solve all parts of a question consecutively together.
(iii) ¥ 597 F1 79 98 & IR Hifd |
Start each question on fresh page.
(iv) @I 9T § 317 g7 1 1R 7 37 s @ = 8

Only English version is valid in case of difference in both the languages.

1. () UPhd &R g IR ad | a1 A=<l g ?
What is difference between single stage & multistage network ?

(i) W 9™ Hret (SPC) # fidias wures A FH R 7
What is the main function of secondary storage in SPC ?

(i) “7= 1 feafsim sman (SC)" aw=nad ® ?
What is meant by “Switching capacity” of Network ?

(iv) A fesfem i MAR s SR FT8 ?
What is the function of MAR in Time Division Switch ?

(v) e sAfmiteh 4 PBH (Peak Busy Hours) ! aftifia Hifs |
Define PBH (Peak Busy Hours) in Traffic Engineering. (2x5)
(10of4) P.T.O.
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fRai Tt 35 et TSt wRE A |
Explain the basic elements of switching system with neat diagram.
Sipa SPC 1 wire Tren faen =1 wfe wwemed |
Explain “Load sharing mode” of centralized SPC with neat diagram. (6%2)

TR W feafm ¥q fi-wada srer & fore SC (Rafem gman) i momn hifsd |

Calculate the Switching Capacity (SC) of a Three-stage Network for Electronic
Space Switching. '

Time Slot Interchange (TSI) switch 3! SHTIwUTTel HHEY |

Explain the working of Time Slot Interchange (TSI) ’switch. - (6%2)

3iqe Prafa ama fyvrem diw e 6 wriyonedt wvems |
Explain the working of Input-controlled time division space switch.

rawo q99 fawem Sy o =) afas anemsd |

Explain generalised time division space switch with neat diagram. (6x2)

U Terd TG THEe H T I O ! JHEsy |
Explain important tones used in an automatic telephone exchange.

@ 3G F! geFar § EPABX & shriveref! a9z |

Explain the working of EPABX with the help of block diagram. (6x2)

LAN, MAN 3ft WAN # afyz i sa1sd |
Differentiate between LAN, MAN and WAN with neat diagram.
fgzata Network =t aifes amgms |

Explain two-stage netwdrk with neat diagram. (6x2)
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(i) wehia YTHRAT 1 I5eh TR 9 HE % Wiy fakan & wuegd |

Explain Markov process in details with its importance and utility.

(i) e ghfafin & gafRm frefefa vel = awsme
Explain the following terms related to Traffic Engineering :
(a) Sh.3n.Tm.
G.0.S.
(b) Torema wiferan
Delay' Probability
(¢) L.C.R. (Lost Calls Returned)

fori @ W ity § feuafirgt fafed -

Write short notes on any two :

() UAihIN TTRaE
Application Software

(i) H=sraFHa SPC
Centralized SPC

(iii) IR oA Fe8e

Electronic Telephone Handset
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